Math 116 / Ezam 2 (November 12, 2018 ) DO NOT WRITE YOUR NAME ON THIS EXAM page 2

1. [11 points] For each of parts a-d below:

e Find the ezact value, if possible. Recall that = = V2 is a solution in exact form to the

equation z2 = 2, but z = 1.41421356237 is not.

o If the given limit or integral either does not exist or diverges, write “DOES NOT EXIST”.

e If there is not enough information, write “NOT ENOUGH INFO”.

e You do not have to show work, but work shown might be considered for partial credit.

a. [2 points] Suppose f(z) is a continuous, positive, and decreasing function such that
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f(z)dzx converges. Find lim f(x).
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c. [3 points] Suppose p is a real number. Find /
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d. [3 points] The graph below shows two functions p(z) and r(z), as well as their tangent

lines at £ = 2.
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y=—4.296 + 2.148z

V]

. . p(=)
Find the value of 1101312 m S —— /é,m

bj L\Hopgm\‘s Rule, smce %

Answer: lim I—)i) =

Qe

e

683

2.148 5

z—2 r(x)

University of Michigan Department of Mathematics

Fall, 2018 Math 116 Exam 2 Problem 1 Solution



